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JRA-55 7k 5 2 J& (i1 10m @ TOAH T —FHE) (6-8 5. 9-11 H)

10m wind (vector mean)
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average (1981-2010)
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JRA-55 7k 5 2 J& (i1 10m @TOAHT —FHE) (4 A, 5 H. 6 H)

10m wind (vector mean)

average (1981-2010)
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JRA-55 7k 7 2 (M1 10m STOAHS —FE) (7H, 8 5. 9 A)

10m wind (vector mean)
average (1981-2010)
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JRA-55 7k 5 & Ja (1 F10m STOAH T —FHE) (10 H, 11 H, 12 H)

10m wind (vector mean)

average (1981-2010) October

m/sec

FRENTIE RN
T
A3 > Aa

o
Ry

—
Qs> 2> >332

25 > > >

SESS

JMA

M1 77> > >3 333444 NNV VY

ARNAAAY NN NN YN Y

= -y e
> > > > > > > T

ez <

m/sec

Ny >
37 7

Qv < v

19 VVU;)w?

v

>
v

ST T RS,

N

. JMA
10m wind (vector mean)

average (1981-2010)

Wkéé(éé$$ﬁw?l(kkkkkk/b)\m4

m/sec

)

N WSS

<SS
e
TS ST
~6<~ T

=
6
> = b = ==

2.

.‘4v0LL<,\2<<< ((LA_L—VV,,,?
> K A>> > > Y
= >

SSSSSS
N

Sy

JMA

P —
20m/sec



